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S. NO.

QUESTIONS

MARKS

NATURE

1

Write a paragraph on the topic “The Power Crisis and its
Impact” with regard to the frequent power break down
and load shedding operations in your city and many other
cities in India.(words limit-150-200)

[6]

Information

You are Anshul/Anshika ,a student of X and a resident of
56 D, Ring Road , ITO, New Delhi , and wants to be a
choreographer. Write a letter to the director, National
Institute of Choreography, Noida, seeking information
about their course, admission procedure, eligibility criteria
and other necessary details.

[6]

Communication

Skill

How was the young seagull able to take his first flight?
Or

Describe the narrator’s experience as he flew the

aeroplane into the storm?

[6]

HOT

Fill in the blank with the correct form of verbs:
1. Everyone (has/have) done his or her homework.

2. Each of the students (is/are) responsible for doing his
or her work.

3. Either my father or my brothers (is/are) going to sell
the car.

4. Neither my sisters nor my mother (is/are) going to sell
the house.

[4]

Interdisciplinary

Make meaningful sentences-
a)Without/time/any stop/on/flows
b)things/this is why/changing/always/are
c)changel/in fact/law of nature/ the/ is
d) must/ accept/ the/in time/change/one

[4]

Analytical Skill




7. Read the extract and answer the following.

He stalks in his vivid stripes
The few steps of his cage
On pads of velvet quiet,

In his quiet rage.

a) Name the poem and the poet

b) Who is ‘he’ referred to here?

c) How does he look?

d) What do you mean by “quiet rage”™?

[4]

Understanding

Answer the following questions in about 30 to 40 words
only.
a) Critically analyse the poem “How to Tell Wild
Animals”.
b) Write a brief character sketch of Anil?
c) Describe how Ausable outwitted Max.

[6]

Evaluation

Write an essay on the topic- COVID -19

“An unprecedented global health and economic

crisis”

[4]

Critical Thinking
and Problem
Solving
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PHETT H 3eTolTeT H 8T I 373G TR & [oIT HETT AT T ATH
:qmﬁgtrq-arﬁ@trl

Information

T ST T T feT 1T =t & 3eek fafae |

STeray AREde 3ot Ueh U [aRaEcIa Taedr 1 &9 o
e 8, Toreeh FATI o forw 31ret SOt faea-aarst 1
TYFA T IHRTSET TR TR Fldd T el
TARIRAT & [T 31T HIHT HIFHA JifHeafFawi &
Tl @ E1eT I g1 arel fafRIse aRaciet 1 81 STerary
aRads g & | araeTet 7 e, BaAeTar o fererer aa
AT THG STl FR H AR g 0 g7 &, o
STerary Raciel &t GRECHT T Il Tefdl § 1FZal I 3T
aTelt | ST hY F8Y ATAT Jratard ol & &9 7 gt &
aTCTEROT & STER <ol STl & | 39 Sl b1 s #HT=T
NeAeT3T AT & AAT FIeaT 315 3iTFarss, A5

Understanding




3TFATSS ATl A & araraxer & A=1gr3d It &1
BITT 37507 &, Fohe] ST Setehl AT G SiTclT &, oF aTeTet 37
gig g1 ST & | SHA i FHEIT HIHA 3TS §, 59 Tollelel
afHer 3 dRae drghe Fraardr s g |

9ReT-1 HYOT faRa-THTST &l HYF T U IHRISET TR T
Tdd 9T et ehl TIRThdl FAT &7

RT- 2 STefaryg aRaclel T g 2
9eeT- 3 AREEHT ' & YYeFT ST hiet AT 52
UeT- 4 I H1 3FAT 2fd¥eh TarsT

gRET 1T 'UTS & ATEIH F oW of G & forg geT o e
Frg ?

HOT

TIAT & HTYR WX a1 FTec{ 0T HITST 2

1- ATAAT THAR AT 3TV TG 7 ¢ TR (Tl qFT H G 1olv)
2 - T A fe ool STt offel foheme@r | (EgFd arera &
JeferT) 3- g<aT TR Hehe hradl AHH Harg | (A
g § ST ) 4 -F HIGT AT ST 3R 7Tt o Fofam |
(T T JhR ddTSU ) 5 -Hel Ueh SET AR ST
a@r | ( Eged areg # 95T )

Interdisciplinary

fordY U530, o GaRT 'SET TATHT 9ET TGT3T 9T STeTHeT 308 50

TGl H THTTATT [GATIT IR HIfAT |

Analytical Skill

3 T AP AR fAvT & A1 GHASA 8 ? 38 W 379 [ 100 @

120 ereet # faf@w |

Critical Thinking
and Problem
Solving




#HRT STS 0T T ATehLT FY AT TTgel & T1S 3 TR W ff@w

Evaluation

fohell e fawT W 3rTesse ff@u 100 & 150 el & -------
1. HZIS & d6d HeA
2 . e HafedA 4T § |

Communication
Skills
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S. NO. QUESTIONS MARK NATURE
S
1 The pair of equations x+2y+5=0 and -3x-6y+1=0 1 Understanding
have
(a) a unique solution (b) exactly two
solutions (c)infinitely many solution (d) no
solution
2 If3x-5y=1. =Y _ 4, then the value of x + yis 1 Analytical Skill
-y
R v)-3 ©3 @ -
73 3
3 The value of k for which the system of equation 1 Understanding
kx-y=2,6x+2y=3 has a unique solution is
(a) =3 (b) #3 (c) #0 (d)=0
4 1 Interdisciplinary
The value of k for which kx+3y=k-2 ; 12x+ky=k
have nosolution is;
(@) k#6 (b) k=4 (c) k=2 (d) k=1
5 If a pair of lines is consistent, then the lines will be: 1 Analytical Skill
(a) parallel (b) always coincident (c) intersecting or
coincident (d) always intersecting
6 The solution of the system of linear equations Tl oaun i +lj =1 are 1 Cri_ti Cf_“'
a b C b Thinkingand
(@)x=amdy=b  (O)x=a'andy=b" (¢)x=landy=1 (d)none of these Problem
Solving




7 If the lines given by 3x+2ky=2 and 2x+5y+1=0 are Application
parallel, then the value of k is
(@) -5/4 (b) 2/5 (c) 15/4 (d)
3/2
8. The sum of two natural numbers is 240 and their ratio Analytical
is Thinking
3:5. Then the greater number
is(a) 180 (b) 160 (c) 150
(d) 90
9 The area of the triangle formed by the lines x=3 , y=4 Understanding
and
X=y is
(a) ¥2 sq. unit (b) 1 sqg. unit (c) 2 sqg. units (d)None of
these
10 If 3x-2y=4 , 2x+y=5 then the value of m such that Interdisciplinary
y=2Xx+m
is
(@) m=-3 (b) m=3 (c) m=-1/3 (d) m=1/3
11 The line 3x-4y=12 meets the x-axis at; Interdisciplinary
(@ 3.0) () (03) (c)(4.0) (d)(0.4)
12. Interdisciplinary
Rs. 4900 were divided among 150 children. If each girl gets Rs. 50 and a boy gets Rs. 23, then
the number of boys is:
(a) 100 (b) 102 (c) 104 (d) 105
13 .solve; 1/2x +1/3y =2 Evaluation
1/3x+1/2y=13/6
14 Find whether the following pair of equation is Analytical
consistent Thinking
or in consistent 3x-2y=5 and 2x+3y=9.
15. If x=1 then find the value of y in the equation Evaluation
4/x+3ly=5
16. Solve the following equations; y-2x=10 and 4y+x=8 Evaluation
by
elimination method.
17. Find the value of “a “ so that point (3,a) lies on the Analytical
line thinking
represented by 2x-3y=5.
18. The sum of the digits of a two digit number is 9. If 27 Problem solving
is
added toit, the digits of the number get reversed.
Findthe number.
19. The angles of triangle are x,y and 40" . The Interdisciplinary
difference
between the two angles x and y is 30% Find x and y.
20. Solve by substitution method; 3x-4y-4=0 and Evaluation
Ox=2y+7.
21. A fraction becomes 1/3 when 1 is subtracted from the Critical thinking

numerator and it becomes %1 when 8 is
added to itsdenominator. Find the fraction.




22.

The cost of 2kg of apples and 1kg of grapes on a
day was

found to be Rs 160. After a month ,the cost of
4kg of apples and 2kg of grapes is Rs 300.
Represent the situation

algebraically and geometrically.

HOTS

23.

Draw the graphs of the equations x-y+1=0 and
3x+2y-12=0,determine the coordinates of the
vertices ofthe triangle formed by the lines and
the x-axis ,and shad
the triangular region..

HOTS

24,

Given the linear equation 2x+3y-8=0, write
another linear

equation in two variables such that the
geometricalrepresentation of the pair so
formed is;
(a) Intersecting lines (b) parallel lines (c)
coincidentlinest.

HOTS
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S. QUESTIONS MARKS | NATURE
NO.
1 Q1. Which type of medicine is used for treating 1 Information
indigestion? 1
Q2. Mention the purpose of blackening the
interior of a solar cooker. 1

Q3. Which two colours of the spectrum are best
for photosynthesis?

2 Q4. List the events which occur during 3 Understanding
photosynthesis.

Q5. Differentiate between extracellular digestion
and intracellular digestion. 3
Q6. List any three differences between an acid
and a base.

w|iw

3 Q7. Bio gas is an excellent fuel. Justify the HOT
statement by giving two reasons. Mention the
main constituents of bio gas along with its
percentage.

Q8. Which gas is usually liberated when an acid
reacts with a metal ? Illustrate with an example. |3

How will you test for the presence of this gas?

4 Q9. In human alimentary canal, name the site of | 3 Interdisciplinary
complete digestion of various components of
food. Explain the process of digestion.

Q10. Draw a diagram to show open stomatal




pore and label it:
a. Guard cells
b. Chloroplast
Write one function of each.

Q11. A metal carbonate X on heating with an
acid gives a gas which when passed through a
solution Y gives the carbonate back. On the
other hand, a gas G that is obtained at anode
during electrolysis of brine is passed on dry Y, it
gives a compound Z, used for disinfecting
drinking water. Identify X, Y, G and Z.

Analytical Skill

Q12. List any three hazards of nuclear waste.

Critical Thinking

How does the disposal of nuclear waste pose a and Problem
problem for the plant and animal life? Solving
Q13. Explain the process of nutrition in Amoeba. Evaluation

Q14. (a) How does construction of dams across
the river get linked with production of
greenhouse gases?

(b) How do technological inputs improve the
efficiency of biomass fuels?
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What are Residuary subjects? Give examples.

Information

Which one of the following is not a feature of federalism?

(a) There are two or more levels of government.

(b) Different tiers of government govern the same
citizens.

(c) Sources of revenue for each level of government
are clearly specified.

(d) The Fundamental provisions of the Constitution
can be changed unilaterally by one level of
government.

Understanding

What was the main objective of the Constitutional
Amendment made in 1992 in India?

Understanding

Examine the following pairs that give the level of government in

India and the powers of the government at that level to make

laws on the subjects mentioned against each. Which of the

following pair is not correctly matched?

Interdisciplinary




Column | Column I
a) State government i) State List
b) Central government ii) Union List
c) Central and state iii)Concurrent Llst
government
d) Local government iv) Residuary powers

In the question given below, there are two statements
marked as assertion (A) and reason (R) . Read the
statements and choose the correct option .
Assertion (A) India is a Federal country.
Reason (R) In India power is divided between a central
authority and various constituent units.
(a) Both (A) and (R) are true and (R) is the correct
explanation of (A).
(b) Both (A) and (R) are true and (R) is not the correct
explanation of (A).
(c) (A)is true, but (R) is false.
(A) is false , but (R) is true.

Critical Thinking
and Problem
Solving

Which organisation publishes the Human Development
Report?

a) UNO

b) WHO

c) UNDP

d) World Bank

Understanding

Define Literacy rate

Understanding

Mention any two development goals of a landless rural

Understanding




labourer.

9 Life expectancy at birth means : Information
(a) Average expected length of life of a person at the
time of birth.
(b) Average expected length of a life of a person at the
time of death.
(c) All of the above
(d) None of the above
10 In the question given below, there are two statements Critical Thinking
marked as assertion (A) and reason (R) . Read the and Problem
statements and choose the correct option . Solving
Assertion (A) For comparing countries total income is not
a useful measure .
Reason (R) Different countries have different population.
(d) Both (A) and (R) are true and (R) is the correct
explanation of (A).
(e) Both (A) and (R) are true and (R) is not the correct
explanation of (A).
() (A)is true, but (R) is false.
(g) (A)is false , but (R) is true.
11 What is the basic idea behind decentralisation ? Information
12 Discuss two kinds of routes through which federations Analytical Skill
have been formed.
13 What consequences would we face if non- renewable Evaluation
resources get exhausted in the world?
14 “ Money cannot buy all the goods and services that one Communication
needs to live well”. Skills
15 How is federalism practiced in India? Information
16 “India is a federal country.” Explain by giving examples. HOTS
17 What does Sustainability of Development mean? How can Evaluation
sustainable development be achieved ?
18 On an outline map of World locate and label Any three Information

Federal countries of the world.
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1 Choose and write the correct option (MCQ):- 4X%=2 Information
(i) The mobile phones using this technology are able
to be unlocked and mover between carriers:-

(a) CDMA

(b) GSM

(c) WLL

(d) None of these.
(i) Which one is the fastest available mobile internet
technology:-

(a) 2G

(b) 3G

(c) 4G

(d) 8G
(i) What plugs in the network card located in every
computer connected in LAN?

(a) Ethernet cables

(b) Switch




(c) Hub
(d) Port

(iv) In which type of network a moving user can
connect to a Local Area Network (LAN) through a
wireless radio connection?

(a) WAN
(b) LAN
(c) WLAN
(d) MAN

Fill in the blanks :-

0] does not assign specific frequency to
each user on the communication network.

(i) 2G, 3G and 4G are ______internet access
technology.

(i) The waves are used to form wireless
LANS.
(iv) A wireless network interface card bears an

4X%=2

Understanding

Short Definition :
i) GSM

(i) CDMA

(i) NIC

(iv) Access Point

4 x 7 =02

Critical Thinking

Answer the following questions:-

()  Write two features of GSM Technology.

(i)  Write two features of WLL technology.

(i)  Write any two differences between Peer to Peer
networking and Client Server Networking.

(iv) Write any two advantages of Wireless LAN.

4x1=4

HOT




